RETAN A—F &F#, o1

ROMICEZ K. (SH35F, A#k14r, B 1330%, C#H24710% )

(1) [1=60ntx, [42kDdk. 20 [1]=2s0tx, [8]zkwk.

(3) [1]=1200 & %, [50] 23k k. (4) [1]=uotx [15] %k
2 :

) [l]=5 ors, [B]zkok. (6) [J=280rs, |3 &kok.
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2.

ROMNCEZ K. (S35, Afk14r, B#15330%, C#h24r10%)
(1) [1]=8otx, [9)zkd k. (2) [1]=240t % [6]zknk.
(3) [1]=150dt =, [600] 2k &. (4) [1]=320t=x [25]%kok.
3 .
6) []=¢ ot&, [45]&kDk 6) [1]=360L%, % R k|
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1.

(1)

(3)

(5)

R#ETFAL H—F EH 01 BIEE

ROMICEZ K. (SH35F, A#k14r, B 1330%, C#H24710% )

[1]=6ntx, [4]2kDdX. 20 [1]=2s0tx, [8]zkwk.
= [1]x4 = [1]x8
= 6x4 = 25 x8
= 24 -EZX = 200 -&EX
[1]=1200 ® & &, [50] ko k. 4) [1]=2uo0rx [L5]%k0k.
50 = [1]x 50 15] = [1]x15
= 1200 x 50 — 24x15
= 60000 --&EZ = 36 -BX
2 .
[1]=3 ors, [48]akodk. 6 [=280cs |3|zkok
48] = [1]x 48
48] 3 - mx2
2
= = x48
s - 2.8><%
= 32 EZ
_ 283
- 10 ° 14
= 2.1 -&Z
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ROMNCEZ K. (S35, Af14y, B#14530%, C#k24310% )

(1) [1]=8otx, [9)zkd k. (2) [1]=240t % [6]zknk.
9] = [1]x9 6] = [1]x6
= 8x9 = 24 x6
- 72 ...gi = 144 gi
(3) [1]=150 D=, [600] 2k &. (4) [1]=320t=x [25]%kok.
= [1]x 600 = [1]x25
= 150 x 600 = 32x25
= 90000 --&EZX = 80 &Z
3 .
() []=2 ors, [ akox 6) []=s60cs |[Tlzkok.
45| = [1]x 4
X o % _ x%
3
= = x45
Z — e
= 36X 9
= 27 X
_ 36 7
- 10 %9
= 2.8 —&Z
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